C:# Dividing Whole Numbers with Zero
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Dividing Whole Numbers with Zero Name: Answer Key
Solve each problem. Answers
1) 060 2) 070 3) 030
1 60r4
5|/304 8566 41122
Y 0 Y
30 56 12 2 70r6
30 56 12
04 06 02 3 30r2
0 0 0
4 6 2 . 50r5
5, 60r6
4) 050 5) 060 6) 208
6. 208r1
8|405 8486 3625
0 0 6
40 48 02 7. 40r2
40 48 0
05 06 25 8. 230r1
2 0 24
5 6 1 9 50r2
10, 60r3
7 8 9
) 040 ) 230 ) 050 " 2016
71282 41921 5(252
0 8 0
28 12 25 2 101rl
28 12 25
02 01 02
0 1Y 0
2 1 2
100 060 11) o040 12) 101
6363 8326 6(607
0 0 6
36 32 00
36 32 0
03 06 07
Y 0 6
3 6 1
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